et s (B2 hR)

(Fri26FE48 158 ERR)

KAMEHRIRIE T, FHFTHAVERT -2 OEEERBETY .
SH®. HBICEBNELDEENHYFEITDT, HoMLHITEIESL,

1. BB
H26.1~2 H25.1~2 H25.4~H26.2 |H24.4~H252|| H254FE H254F E H254 &
18 28 (H26FE RED) | BIERED |[(H25FERED |FIEERLN)| F1MEH | SE2mEH | E3mEH
YEF-ERHE 23,182 26,797 49,979 49650 | 295589 | 302,019 78,367 83,355 83,888
(1.9) (A0.4) 0.7) (A9.1) (A2.1) (A25) (A3.0) (A28) (A2.2)
- 22,602 26,255 48857 48444 | 288,727 | 294,705 76,384 81,440 82,046
o (2.1) (A0.2) (0.9) (A9.3) (A2.0) (A25) (A3.0) (A2.8) (A2.0)
. 580 542 1,122 1,206 6,862 7,314 1,983 1,915 1,842
(A35) (A10.4) (A7.0) (A2.3) (AB.2) (0.1) (A5.1) (A49) (A8.1)
= I 2,160 2,304 4,464 4,487 28,146 29,070 7,564 8,019 8,099
(3.1) (A3.7) (A05) (A35) (A3.2) (4.8) (A3.8) (A4.1) (A3.2)
] = 8,934 9,225 18,159 17,557 108,013 107,854 30,422 29,257 30,175
(7.6) (A0.3) (3.4) (1.3) (0.1) (9.1) (0.9) (0.6) (A2.8)
E R4 7,926 8,240 16,166 14,972 95,927 95,970 27,039 25,942 26,780
(15.1) (1.9) (8.0) (AB.0) (A0.0) (9.2) (A1.9) (A0.8) (A1.9)
& B 34,276 38,326 72,602 71,694 431,748 438,943| 116,353 | 120,631 122,162
(3.4) (A0.6) (1.3) (AB.4) (A1.6) (0.6) (A2.1) (A2.1) (A2.4)
HE X o 13,725 14,087 27,812 24783| 164,578 162,850 45,194 44,451 47,121
(21.6) (4.4) (12.2) (A8.8) (1.1) (10.0) (A2.4) (1.0) (A1.3)
2. B
H26.1~2 H25.1~2 H25.4~H26.2 |H24.4~H252|| H25%FE H254F E H254 &
18 28 (H26FE RED) | BIERED |[(H25FERED |FIEERLN)| F1MEH | SE2mEH | E3mEH
P | mmEEr 2,934 3,416 6,350 6,931 37,375 38,612 10,006 10,426 10,593
c (2.3)] (A15.9) (A84) (5.0) (A3.2) (13.0) (A0.4) (A0.2) (A54)
o 4344 4,402 8,746 8,022 50,286 48343 14,334 13,027 14,179
(8.9) (9.1) (9.0) (A3.1) (4.0) (1.0) (2.1) (1.4) (5.6)
2 | xEERE 113 157 270 260 1,698 1,858 455 464 509
N (A1.7) (8.3) (38) (A18.2) (A8.6) 257 (A203) (A15.2) (6.0)
7 e EE 1,008 985 1,993 2,585 12,086 11,884 3,383 3,315 3,395
o [TEEEEIT (4290) (A155) (A22.9) (85.2) (1.7) (8.4) (30.9) (12.4) (A9.8)
3. BIrHBEERERRUVUERFERMEHMmEE KA
H26.1~2 H25.1~2 H25.4~H26.2 |H24.4~H252|| H254FE H254F E H254 &
18 28 (H26FE RED) | BIERED |[(H25FERED (FIEERLN)| F1MEH | 2P | E3mEH
B HEEAES 20,404 23,485 43889 40,246 || 220,102 | 215,271 56,477 60,551 59,185
(6.0) (11.8) (9.1) (A9.0) (2.2) (A5.4) (2.3) (0.0) (A0.1)
. 19,244 21,002 40,246 44205 | 215,271 227,651 55,227 60,525 59,273
’ (A42)| (A129) (A9.0) (0.6) (A5.4) (1.2) (A0.7) (AB.7) (A5.9)
ERAHE 31 32 63 84 387 489 127 101 96
BT s = (A184) (A304) (A250) (12.0)  (A20.9) (9.2) (A66) (A229)| (A304)




4. FBHEERER

H26.1~2 H25.1~2 H25.4~H26.2 |H24.4~H252|| H254FE H25F & H25F &

18 28 (H26FE RED) | BIERED |[(HFERED (FIEERLN)| F1MEH | SE2mEH | E3mEH

== T R 1,767 2,028 3,795 3,828 22,873 23,192 6,222 6,211 6,645
(A2.6) 0.7) (A0.9) (0.4) (A1.4) (A3.5) (0.3) (A2.4) (A22)

N 16 13 29 35 223 213 61 75 58

= A (6.7)] (A350) (A17.1)] (1333) @4n|  (A94)| (A153) 66.7) (A4.9)
ST 25 16 41 39 232 176 48 52 91

) " (25.0)) (A15.8) (5.1) (25.8) (31.8) (21.4) (14.3) (40.5) (56.9)
S I 0 0 0 2 25 31 9 2 14
(A100.0)| (A100.0) (A100.0)] (A33.3) (A19.4) (3.3) (50.0)|  (A83.3) (27.3)

~ = 1,808 2,057 3,865 3,904 23,353 23,612 6,340 6,340 6,808

= " (A2.3) 0.2) (A1.0) (1.1) (A1.1) (A3.4) (0.3) (A1.9) (A1.7)
H26.1~2 H25.1~2 H25.4~H26.2 |H24.4~H252|| H254FE H25F & H25F &

18 28 (H26FE RED) | BIERED |[(H5FERED (FIEERLN)| F1MEH | B2y | E3mEH

- 0 0 0 0 0 0 0 0 0

| EEFR 0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
* & z 2 0 2 0 6 8 3 1 0
= (0.0) (0.0) (0.0) 0.0) (A25.0) (14.3) (50.0) (0.0)] (A100.0)
T OE 0 0 0 0 0 1 0 0 0

2 : (0.0) (0.0) (0.0) (0.0) (A100.0) (0.0) (A100.0) (0.0) (0.0)
w o= 0 0 0 0 0 0 0 0 0

e (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
Sl 2 0 2 0 6 9 3 i 0
= (0.0) (0.0) (0.0) (0.0)  (A33.3) (12.5) (0.0) (0.0)] (A100.0)
H26.1~2 H25.1~2 H254~H26.2 [H24.4~H25.2|| H25FE H25EE H25 & E

18 28 (H26ERED) | GIERL) |HBEERD|FTEERL)| S | Sompsy | $HImEH

== TR 33 17 50 47 348 340 112 73 113
(22.2)] (A15.0) (6.4)] (A20.3) (2.4)] (A15.8) (30.2)] (A34.8) (18.9)

= - 2 1 3 6 13 15 3 3 4
w2 (0.0) (A75.0) (A50.0) (2000) (A133)| (A11.8) (0.0) (50.0) (0.0)
- 0 3 3 2 15 15 7 0 5

E (A100.0)[  (200.0) (50.0) (0.0) (0.0) (0.0) (250.0)] (A100.0)] (A37.5)
A = 35 21 56 55 376 370 122 76 122

= " (16.7)| (A16.0) (1.8) (A9.8) (1.6)] _ (A15.1) (34.1)]  (A35.0) (14.0)
H26.1~2 H25.1~2 H25.4~H26.2 |H24.4~H252|| H254FE H25F & H25F &

18 28 (H26FE RED) | BIERED |[(HFEERED |FIEERLN)| F1MEH | 2y | E3mEH

== TR 74 75 149 103 984 806 297 284 254
(48.0) (41.5) (44.7)]  (A23.1) (22.1)]  (A25.6) (8.8) (21.9) (28.9)

- 5 7 12 12 81 95 20 25 24

- (0.0) (0.0) (0.0)] (A520) (A147)] (A18.1) (A9.1)] (A16.7)] (A226)

[ o 69 89 158 172 1,085 965 300 281 346
! (A148)]  (A22) (A8.1) (16.2) (12.4) (A3.1) (5.6) (16.6) (29.1)

w o= 2 0 2 1 8 3 4 1 1

= (100.0) (0.0) (100.0)]  (A50.0) (166.7) (0.0) (0.0) (0.0) (0.0)
= s 33 35 68 62 449 379 132 129 120
- (A10.8) (40.0) 9.7) (12.7) (18.5) (A55) (23.4) (9.3) (30.4)

A = 183 206 389 350 2,607 2,248 753 720 745

= (5.2) (17.0) (11.1) (A3.8) (16.0)] (A13.5) (9.8) (15.6) (26.5)




